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100,000& x202| « 12& 24,000
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01 Z&3 2,000 2,000
DNS EE 2432 Al4
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752 ¢4 7,292 6,605 687
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01 At 2teltl 7,292 6,605 687
N7E 23 7,292,000& 7,292
A SHIE =0 Al2 1S 370 370
201 et | 370 370
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N20uNs 2A2 370,000& 370
2S7E Ht2 20| oL A+ HIE 4,000 8,000 24,000
201 L EH2A| 4,000 8,000 24,000
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1)QHH =Xt HIZ 4,000
2) & SHHIE 20,0002 *10024 2,000
2)EE L oI 4,000& 5005 2,000
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1) (DE, 2CI294)
20,000,000 20,000
NJIEHERE, tiREMHE, HA 5)
10,000,000& 10,000
-8 82 J40iM 29 14,200 7,500 6,700
201 B2 9,100 7,500 1,600
01 AtR2teltl 9,100 7,500 1,600
DIPTV YSAIAE X2
666,660 * 122 8,000
DIPTV £24& 2 X8 1,100,000 1,100
405 XHoHFE S 5,100 5,100
01 A& =ZFH SHI 5,100 5,100
NCXE £ HAC 204
2,000,000 *2CH 4,000
1IPTV 2204 1,100,000 *1CH 1,100
A=7 A B28 IR 9,669 9,669
201 L2 5,169 5,169
01 At22t2ltl 5,169 5,169
NEAMRIE =2 100,000& 5 & *22 1,000
DEEEPN(ES 69,300 *20 K 1,386
NEAE M 1,000,000& %12 1,000
NHlH 24 100,000 *22 200
DA Q15| 1,501
2)8" A&l ol 4,4002 320013 141
2)20" Ot2™ ARl L X} 0H
85,0002 *16IH*12] 1,360
Nard oy 5,120 160 82
203 &R =& 600 600
03 Al =P S =] 600 600
DAY S28 HRFZ 600,000 600
301 LEEdZ 3,900 3,900
14 J|Et2 a3 3,900 3,900
DA Z2 A= 3,900,000& 12l 3,900
Z=7RE 34 2270 29 41,386 29,386 12,000
201 B2 13,386 13,386 0
01 At 22l 13,386 13,386 0
NAMAY =& 100,000 3% 300
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NENEE PHEE LS
917, 7503 128 11,013
203 BR=4| 1,000 1,000
03 Al AR Y| 1,000 1,000
NEZD 2% JRFIH| 1,000,000 1,000
301 Let2d= 27,000 15,000 12,000
11 HALAHIX S 24,000 12,000 12,000
1)K 2= Atell
50,0002 x4024* 12& 24,000
14 JIEt2a =S 3,000 3,000 0
)220 2Ex T2 AN
3,000,000& %12 3,000
A 2H 3] 211,205 110,394 100,811
H2AH(sE2EER) 136,203 0 136,203
lHE2AH(SE2EE) 136,203 0 136,203
101 2l24| 131,727 0 131,727
02 JIEt X 2= 131,727 0 131,727
DAIRHIEHROIN 2= 118,959
2)l=ds 2,906,400 «3Fx11&*1.017 97,542
2= 120,000&x32+11& 3,960
2)ZUZ Al 140,000 x32* 112 4,620
NLLZReE
9,992 *30AI 2H+3B+11E%1.017 10,061
2)StE At
2,906,400 *84%+86%*1/30%1/7x3Z 91 Al 2t
1.017 2,776
SaxRey
2,906,400 «84%+5%+3E x11&%1.017 4,097
oelg sy
50,0002 35/40A1 2t+3H 112 1,444
Nesg= 7,227
2)ALEEE 125,676,000 +3.545% 4,456
AWQAEEE 4,456,000 *12.81% 571
) n8EE= 125,676,0002 %1.75% 2,200
204 [ -HAH 4,476 4,476
02 A= 2] 4,476 4,476
DEEE=EN:]
155,000 #35/40A1 2++3H+11& 4,476
2t (segga) 75,002 110,394 N35,392
Jl2Ztl(segga) 75,002 110,394 N35,392
201 Zer2d| 33,770 34,538 AT768
01 At2teltl 33,770 34,538 NT68
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NHZES 704 6,190
NS S == tal 10,0002 162 *4=| 640
2)= NI 50,0002 +38 150
ANFEE 1203%2,0000H %22 480
2EXSE 302 *4,0000H23] 240
2)SAKI(A3) 40,0003 *44¢ Xt 160
2)S ALXI(B4) 30,0003 * 1248 X} 360
2)= ALKl (A4) 20,0002 48 &} At 960
2)=28J A2E(EU)
200,000& x4 E+32 2,400
2280 AZEZ(IE)
200,000 x2CH*23 800
NESRAEAM M= 700,000 700
NJI2geFa S8
8,000& 14 *2041x 12 26,880
202 044 37,632 32,256 5,376
01 =LH0dHI 37,632 32,256 5,376
NI2geF=a ol
20,0003 x 142+ 142 %123 +80% 37,632
203 HER=4| 3,600 3,600
04 FAZEE R 3,600 3,600
1)20@! o5t 300,000& * 128 3,600




